A kol Hishe] A 7 = 3(k + 2i) — k(1 - i) &) grol =857t
HE5 ko g Agshi?

O -2 )0 @1 @ 2 ® 3

z = 3(k + 2i) — k(—2i)
= 3k + (6 + 2k)i = &=d|F
L 3k=0,k=0




54 (a+3b) + (a—2b)i = 7-3i & W5t A4 a, b ol Histo]
a-b o] 32?

@ -3 @—1 ® 1 @ 3 ® 5

S5 ~
(a+3b)+ (a—2b)i =7-3i A BAFIL AR T 270
OlsfiX a+3b=7,a-2b=-3

fle] = Ag dgsto EW

a=1, b=2

La-b=1-2=-1




Axtstedzt.

=

=

L odi

(3 +2i) - (3-2i)

3.

gt

t}
4j o]t}

ok

L 55270e ALt

-

SR E 47 HER




4. x—14 VEiy—1- V3G A, x2+)? o S Fakolet.

>

> ™ -2

x+y=2, xy=3
P+ =(x+y)?-2xy=22-2x3=4-6=-2




a=1+i,p=2-iJ AU ELTE A, T W, aa+ B+
ap + ap o F2?

@ 0 @ 3 ®@7-2 @7-i © 7+

B

a=1+i,=2-iMHa=1-i,B=2+i°|E2

a@ + of + aB + af
—(A+)A-D)+Q+)C+)+Q-DC-i)+1-)2+1i)
=1+1)+2-14+3)+(2-1-3)+(2+1-1)

=7-i




6. AFx, yol tote] (1+ix+ (i-1)y =2, x+y°] g-27 (
i=+vV-1)

@1 (@)2 ® 3 @ 4 ® 5

QI+idx+(G-1)y=2i
(x=y)+ (ery)l:?l




1 1 1 1

1o
_+l_2+_3 l,5—094%1\1_?
® -1+i @)-1-i
@ 1+ ® 1-i

O

2B ;50

11 1 1 11 1
<_+z_2+3+i4>+<5+6+i_7

1 1 1 1 1 1
A l.4—5+l,4—6+i4—7+.— +i4_9+i5_0




® Q0

@lﬂ'f—ﬂ]:azl,ﬁ:i
© (B2




D z=1+ V3i @z:uw/ﬁi ® 7=3+V3i
@ 7=1+2V3i ® z7=2+2v3i

B \

z=a+ bi
2+z2=2a=4,7.3=a>+b2=1T
a=2b=+3

Lz=2+ V3i




10, x=-2-i 0, 22 4 x4 10 9] LS FoHA L,
=i

>
> Het: 5

B

x=-2-i°lq x+2=-i 9 ¥HES AF5H
(x+2)2=(-i)? o]B=E

%2 +4x=-5

X2 +4x+10=-5+10=5




11.

D x>2 @ x<3 ® x<2

@ x>3 @2st3

~&B

V=22 +5x-6=—-/(x-3)(2- %)

— _Vr3v2—welH
(x=3)(2-x) oAl
@x-3<0, x<3
O©2-x<0, x>2
Q, ©2 Al THFHA| Ak stE=Z
SL2<x<3




12.

)

@ I,I @)1, 1 @ I,II I

I. V-3V = VBivi= V02 = -

- 511] O}q-

1. V572 = V53 = VO
%
\/; 12__\/;'

10
l—\/_l

=
e s

go
Y
5{0
_r;

=
ﬁ\




13. of g7

N B

@ 1-+2 @ -1-+2 ® (1+ V2)i
@—(1+ V2)i ® (1-v2)i

V-V V-1
(V2+1) x ()
—(1+ V2)i




14.

Bag (1402 - (2+i)x-3-25 AFstd 59 4
_ETE]— Uﬂ, /\21—/1\" x_o,] %I%Q

@1 3 2 s -

8

(FA)=2*-2x -3+ (»* - x-2)i

o1RAE AFANA &9 457} HeE £olsololof sz

2_92%-3=0---O,x2-x-2%0---©
@A x =3, x=-1

o] ol X OF WEE AL .

L x=3

d7t oAl




A% x y WMokl ek 1 = 2 -7 SRR, 2y o 2
9
@ 8 Q)7 ® 5 @ 4 ® =

(I-Dx+ 1 +i0)y
(14i)(1-i)
()Hry)—(x—y)i:2

2
(x+y)-(x—y)i=4-2i
B A459] AF5of o)A
xty=4---@,x-y=2---©
@, 0N x=3y=1 . 2x+y=7

=2-i

—1




